Match the incomplete phrases (1-6) to their
corresponding half (a-f) to make correct statements. Then
decide if the statements are in the active or passive
forms.

Active

. These days, many people are... a) are checked by potential employers.

Pasive
Active

. Others share lots of personal... b) different identities on different sites, e
asive
___—¥ Active
. Experts are advising... c) hiding their real identity online.— Pasive
Active
. Some people use... d) increased by many Facebook users today. —
Active
. Privacy settings are being... e) information on social-networking sites. Pasive
Active
. Sometimes, social media f) people to protect their identity online. Pasive
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